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. Instructions to- candidates -
‘e Answer all questions.
e Write down ‘the answers in the Spaces provided in the paper itself. Attached

sheets will notbe graded ' ' '

Part A

Underline the correct answer.

1. The eleﬁieﬁt'M_g is | 2 | |
1. an-alkali metal 2:analkali earth metal 3. ahalogen’
4. ametalloid - ' 554 transition metal

3, The atomic number of K is
1 20 o 2 19




4. Tsotopes of a specific element have

' 1. thésame mass number and atomic number
mé'sanje.mas,'s numiber but different atomic numbers
differEnt mass numbers and atomic numbers

- different mass numbers and the same atomic numbers

s e N

“none of the above is correct

. 5. Which of'the: followmg describes an isotope w1th a amass number 99 that contains
' .56 neutrons in its nucleus?

1.5 Ba. 2.5 Tc 3. s Ba 4. 5 Es

6. Which b’f"th_e following elements is a halogen?
 LH 2.0 3.K 4.Na
_ 7. Which of the followmg pEIJI'S of elements would be most hkely to form a covalent
~  ‘bond? _ :
| I.AlandF 2.KandSn 3.CandH 4.KandH 5.NaandCl

‘8. Which of the foﬂc)win'g pairs of elements would be most likely to form an ionic
bond? |
1.MgandCa 2.SandO 3.BandF 4.CandO 5, Mgand Br

9. The chiemical:formula of dlumiium sulphide is
CLAS . 2.ALS, '3'.:A1253 : 4, Ang 5.°AlLS
" | Ghog
(1 0 A student prepared a squtton by dlssolvmg -l-e-g- of sohd NaOH in water and the
final 'volume of the solution was 250, 0mL, What is the molarity of the solutlon'?
(Na=23 gmoll 0 =16- gmol' H=1gmol )
LOIM  2.04M  3.10M 4.40M  5.250M

S _ * (20 marks)




Part B

- 1 (1)nThe e]ement X reacts with- the element Y to give a product contammg X3 ions

“and Y% ions."

e ‘a) Ts element X Iikely to be a metal or a non metal?

.

b) Is element Y likely to be.a metal or a non metal? P

.Q\ »‘\._“,4

F: Jh
. . K . S N {(;%“;\ h A:*\z):ﬁn
') ‘Whatis -the' chemicalfformula of the product? \Q B
o : Nt ‘

d) What are the groups of the periodic table elements Xand Y hkely to be in?
X =
Y=

(10 marks)
(i) A molecule containing only nitrogen and oxygen contains (by mass) 36.8% N.
(0=16 gmol‘ N= 14gm01 )

a) _'Wh"at'i's the weight' of N'in 100 g of the compound?
b) What is the weight of O-in 100 g of the compound?
c)- ‘Calculate the number of moles of N'in 100 g of the compound.

e e

d)! Calculate the number of moles of O in 100'g of the compouud

e) What is the empﬁical”fmﬁiula of the compound.




2. (i) ‘Name the following compounds.

a) CaCO; =
b) CCly =
| ' c) H;PO; =
| ' " (06 marks)
(ii)'Writé the chemical formula of tlw'follwring‘éo‘mpouuds.
. B _ a) Magnesium hydroxide =
b) Phosphorous penta chloride =
§ ¢} Zinc chloride=
IR | ( 06 marks)
_ : (iii) Tdentify each of the following reactions as decomposition, combination or
B ' replacenient reactions.
aZn + CuSO; > Cu +  ZnSOs
b)CaCO; > €O, +  CaO
C) O, + H; 2> 2 Hy0

dNaOH .+ HCl > NaCl +  HO0

------------- L R T R}

{08 marks)




L (iv) Bal'_an.ce:the féuowing equatioﬁs. ,

"ONH; + 0 > N0 +  HO

. B+ NO > N, +  Co

B C)CI' + Oy > Cr04

d) Cngg 7 + 02 . >

(12 marks) |
'(v) The: fol]owmg equatlon shows the:combustion of methylamme (CH;-;NHg) |
(C=12gmol!, N= 14gmor H=1gmol")

ICHNH() + 90a(®) S 4C0,®) + 2N® +10HO()

2) How moles of O, reacts with 4.50 moles of methylamine? B




b) How many'.moles'-of N, are produced from 32.2 g of methylamine?

¢) How many molecules of O are required to form 0.56 g of Na?

(18 marks)
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PartA

PartB

o 1) a) metal b) non-metal c) XaY; d) X——3 Y 6 _
(11) a) 368g b)632g c) 368/14 263N d) 63.2/16 = 3950 o

: e).h' Lo : ‘
‘No. of rnoIes present_ _ _2;63. ' 3 95

Molarratlo .

Empmcal formula NvO; |

2 (1) a) CaCO; Calcmm carbonate
‘b) CCly = Carbon tetrachlorlde
c) H3PO4 = Phosphorlc acld s

'.‘:.:_’S',:(n) ) Mg(OH)p, | b) -P-Cls. ) ZnClz

b)decomp031t10n ' c)combmatlon ':-)'d).rep'lacéinc_nt"-”

Q
g

_1_11)?}1) =rcplacement
“(iv)a) 2NHy + 205 N10+3H.,o EERE

C) 4CI‘ +30; 2Cr203 .
d) 2C3H13 + 2502 —P 16C02 + 18H'1

o _i_.-_f;_j(v) a) 4CH3NH7 90, 34C0, + M, + 10H0
"/ 4moles of CHsNH; react with 9'mioles of ‘05 _
. F0r4 5 rnoles 0fCH3NH2 9 (9/4) X 4 5 —10 125 e

b) 4 moles of CH;NH-: glves 2 rnoles of Nz

Molecular Welght of CHJNHQ o L .-.__ g -

' - Noof moles contain‘in 31g of CH3NH, = =1mole. RS
e 322gofCH3NH2 —322/31mol",:;_.,;.:_-_ b

- _::_' o R

(2)1 (3_)"',2 (4)4 (5)5 (6)5 (7)3 (8)5 (9)3 (10)1 o

2632.63=1 395/2 63—15 B

.-ib) 2C0+2NOQ "— Ny +2C0; -




e

4 moles of CH_:,NHg glves 2 moles of Ng
' 32 2/31 moles of CH;NH') glves -)(2/4) x(32.2/3 )= O 0355 moles of Nu

'3‘-'28g OfN7 is'1'mole .

No of moles in 0.56 g of N3 = O 56/28 mol 0. 02 mol

~2'mioles of Na required 9 moles of Oy
No of moles of O3 requlred to form 0. 02 moles of Na —(9/2) X O 0? mol

: —009m01

i  " )i m’ole‘-o_f O3 have 6;023_x. 10.“-3 moleciles- o L '
. Noofmiolecules in 0.09 moles of O ~0.09% 6,023 x 102

=0.054x 10




